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Exam Code : AADHI_2 Exam Date : 25-05-2019

Version : 15 Exam Time : 12:30 - 14:00

Question No. 1

Which of the following statements is FALSE? 

1. Focal length of a convex lens is positive.

2. Focal length of a concave lens is negative.

3. All measurements to the right of the optic centre are positive.

4. All measurements to the left of the optic centre are positive.

A)Statement 1 only B)Statement 2 only

C)Statement 4 only D)Statement 3 only

�न�न कथन� म� से कौन सा गलत ह�?

1. उ�तल ल�स क� फोकस दरू� धना�मक होती है।

2. अवतल ल�स क� फोकस दरू� ऋणा�मक होती है।

3. �काशीय क� � के दा� ओर क� सभी माप� धना�मक होती ह�।

4. �काशीय क� � के बा� ओर क� सभी माप� धना�मक होती ह�।
A)केवल कथन 1 B)केवल कथन 2
C)केवल कथन 4 D)केवल कथन 3
Answer Key : C Your Response : D (Wrong)

Question No. 2

A man started from a place. After walking a kilometer, he turns left. Then walking for half a kilometer, he

again turns left. He is going eastwards. Towards which direction did he start?

A)South B)East

C)West D)North

एक �यि�त एक जगह से चलना श�ु करता है। एक �कलोमीटर चलने के बाद, वह बाएं मड़ुता है। �फर आधा �कलोमीटर चलने
के बाद, वह पनुः बाएं मड़ुता है। वह पवू� क� ओर जा रहा है। तो, उसने वा�तव म� �कस �दशा म� चलना श�ु �कया था?
A)द��ण B)पवू�
C)पि�चम D)उ�तर
Answer Key : C Your Response : B (Wrong)

Question No. 3
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A) B)

C) D)

A) B)

C) D)

Answer Key : D Your Response : B (Wrong)

Question No. 4

'A' sells a suitcase to 'B' at 10% profit. 'B' sells it to 'C' at 30% profit for Rs.2860. What is the cost price for 'A'?

A)Rs.2200 B)Rs.1000

C)Rs.2000 D)Rs.1600

'A' 10% के लाभ पर 'B' को एक सटूकेस बेचता है। 'B ’इसे' C’ को 30% लाभ पर �.2860 म� बेचता है। 'A' के �लए �य
म�ूय �या होगा?
A)�. 2200 B)�. 1000
C)�. 2000 D)�. 1600
Answer Key : C Your Response : C (Correct)

Question No. 5 Top



Complete the series.

A, C, A, E, A, G, A, I, A, (…)

A)K B)P

C)Q D)N

�ेणी को पणू� कर�। 

A, C, A, E, A, G, A, I, A, (…)
A)K B)P
C)Q D)N
Answer Key : A Your Response : A (Correct)

Question No. 6

Where are the Elephanta Caves located?

A)Jaipur B)Bengaluru

C)Mumbai D)Konark

ए�लफ� टा क� गुफाएं कहाँ ि�थत ह�?
A)जयपरु B)ब�गल�ू
C)म�ुबई D)कोणाक�
Answer Key : C Your Response : Not Answered

Question No. 7

Sum of numerator and denominator of a fraction is 13. Adding 3 and 9 to the numerator and denominator

respectively, the fraction becomes 2/3. What is the product of the numerator and denominator of the original

fraction?

A)30 B)24

C)45 D)42

�कसी �भ�न के अंश और हर का योग 13 है। अंश और हर म� �मशः 3 और 9 जोड़ने पर, �भ�न का मान 2/3 हो जाता है।
मलू �भ�न के अंश और हर का गुणनफल �या होगा?
A)30 B)24
C)45 D)42
Answer Key : D Your Response : D (Correct)

Question No. 8

If 8 # 2 @ 4 = 12 and 5 # 4 @ 2 = 18, then what will be 4 # 8 @ 3?

A)13 B)32

C)26 D)29

य�द 8 # 2 @ 4 = 12 और 5 # 4 @ 2 = 18 है, तो 4 # 8 @ 3 का मान �ात क�िजए।
A)13 B)32
C)26 D)29
Answer Key : D Your Response : D (Correct)

Question No. 9 Top



When the number 42 is misread as 24, what is the percentage error?

A)28% B)55.34%

C)42.86% D)18%

जब सं�या 42 को गलती से 24 पढ़ �लया जाए, तो ��तशत ��ुट �या होगी?
A)28% B)55.34%
C)42.86% D)18%
Answer Key : C Your Response : C (Correct)

Question No. 10

A sum of Rs.16400 is borrowed to be paid back in 2 years by equal payments allowing 5% Compound

Interest. Find the annual payment.

A)Rs.7590 B)Rs.8820

C)Rs.7495 D)Rs.7600

�.16400 क� रा�श उधार ल� जाती है और इसे 5% च�व�ृ� �याज क� दर से समान वा�ष�क �क�त� म� 2 वष� म� चकुाया
जाना है। वा�ष�क भगुतान क� रा�श �ात क�िजए।
A)�.7590 B)�.8820
C)�.7495 D)�.7600
Answer Key : B Your Response : Not Answered

Question No. 11

Complete the series.

458, 435, 415, 398, 384, (…)

A)358 B)382

C)373 D)327

�ेणी को पणू� कर�। 

458, 435, 415, 398, 384, (…)
A)358 B)382
C)373 D)327
Answer Key : C Your Response : C (Correct)

Question No. 12

Find the missing number in the following series.

1, 6, 15, (…), 45, 66, 91

A)28 B)25

C)26 D)27
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�न�न�ल�खत �ेणी म� ल�ुत सं�या �ात क�िजए। 

1, 6, 15, (…), 45, 66, 91
A)28 B)25
C)26 D)27
Answer Key : A Your Response : A (Correct)

Question No. 13

When is 'National Sports Day' celebrated?

A)July 27 B)November 12

C)August 15 D)August 29

'रा���य खेल �दवस' कब मनाया जाता है?
A)27 जलुाई B)12 नवंबर
C)15 अग�त D)29 अग�त
Answer Key : D Your Response : Not Answered

Question No. 14

If time upstream = n × time downstream and speed in still water is 'x' and speed of stream is 'y', then find x :

y.

A)n/2 B)(n - 1)/(n + 1)

C)n/(n - 1) D)(n + 1)/(n - 1)

य�द धारा के �वपर�त �दशा म� �लया गया समय = n × धारा क� �दशा म� �लया गया समय है और शांत जल म� चाल 'x' और
धारा क� चाल 'y', है, तो x : y का मान �ात क�िजए।
A)n/2 B)(n - 1)/(n + 1)
C)n/(n - 1) D)(n + 1)/(n - 1)
Answer Key : D Your Response : D (Correct)

Question No. 15

Who was first Indian to be elected as the President of the United Nations?

A)Sarojini Naidu B)Indira Gandhi

C)Vijayalakshmi Pandit D)Annie Besant

संय�ुत रा�� के रा��प�त के �प म� चनेु जाने वाले पहले भारतीय कौन थे?
A)सरोिजनी नायडू B)इि�दरा गांधी
C)�वजयल�मी पं�डत D)एनी बेसे�ट
Answer Key : C Your Response : C (Correct)

Question No. 16

Find the value of cos(A + B), if tan A = 3/4 and tan B = 5/12 and A and B are in quadrant I.

A)33/65 B)15/48

C)16/65 D)1

cos(A + B) का मान �ात कर�, य�द tan A = 3/4 और tan B = 5/12 और A और B �थम चतथुा�श I म� ह�।
A)33/65 B)15/48 Top



C)16/65 D)1
Answer Key : A Your Response : A (Correct)

Question No. 17

Find the greatest number that can be formed out of the digits 9, 0, 8, 7, 9.

A)90987 B)98970

C)99780 D)99870

अंक 9, 0, 8, 7, 9 से बनने वाल� सबसे बड़ी सं�या �ात कर�।
A)90987 B)98970
C)99780 D)99870
Answer Key : D Your Response : D (Correct)

Question No. 18

If tan A + tan B = a and cot A + cot B = b, then 1/a - 1/b is equal to ____.

A)sin(A + B) B)tan(A + B)

C)cot(A + B) D)cos(A + B)

य�द tan A + tan B = a और cot A + cot B = b, तो 1/a - 1/b, ____ के बराबर है।
A)sin(A + B) B)tan(A + B)
C)cot(A + B) D)cos(A + B)
Answer Key : C Your Response : C (Correct)

Question No. 19

The pupil is a part of-

A)Eye B)Gall Bladder

C)Kidney D)Bone Marrow

पतुल� ________ का एक �ह�सा है।
A)आंख B)�प�ताशय
C)गुदा� D)अि�थ म�जा
Answer Key : A Your Response : A (Correct)

Question No. 20

Jaundice is a disease of the ________.

A)Liver B)Eye

C)Lung D)Heart

पी�लया ________ क� एक बीमार� है।
A)यकृत B)आँख
C)फेफड़ा D)�दय
Answer Key : A Your Response : A (Correct)

Question No. 21

Which of these medical instruments usually has a metal needle attached to it?

A)Spatula B)Stethoscope

C)Thermometry D)Syringe

इनम� से �कस �च�क�सीय उपकरण म� आमतौर पर एक धात ुक� सईु लगी होती है?
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A)लेपनी (Spatula) B)�टेथो�कोप
C)ताप�म�त (Thermometry) D)�स�रजं
Answer Key : D Your Response : D (Correct)

Question No. 22

The Union Home Secretary of India recently launched an online portal named _______ for the grant of

security clearance.

A)"e-Clearance" B)"e-Security"

C)"e-Filing" D)"e-Sahaj"

भारत के क� ��य गहृ स�चव ने हाल ह� म� सरु�ा जाँच क� अनमु�त देने के �लए _____ नाम का एक ऑनलाइन पोट�ल लांच
�कया था।
A)ई-ि�लयर�स B)ई-�स�य�ुरट�
C)ई-फाइ�लगं D)ई-सहज
Answer Key : D Your Response : Not Answered

Question No. 23

Non-metals like sulphur and chlorine are found on the __________ of the periodic table.

A)Zig-zag B)Left hand side

C)Middle D)Right-hand side

स�फर और �लोर�न जैसी अधातएँु आवत� सारणी म� __________ पाई जाती ह�।
A)�तय�क �थान� पर B)बा� ओर
C)म�य म� D)दा� ओर
Answer Key : D Your Response : D (Correct)

Question No. 24

Which of the following reactions is an example of endothermic reaction?

A)Burning of natural gas B)Decomposition of ferrous sulphate

C)Dilution of sulphuric acid D)Dissolution of sodium hydroxide in water

�न�न�ल�खत म� से कौन सी अ�भ��या, ऊ�माशोषी अ�भ��या का एक उदाहरण है?
A)�ाकृ�तक गैस का जलना B)फेरस स�फेट का अपघटन
C)स��य�ूरक ए�सड का तनकुरण D)पानी म� सो�डयम हाइ�ो�साइड का घलुना
Answer Key : B Your Response : B (Correct)

Question No. 25

Find the average speed when the first half of a journey is done at a speed of 60 km/h and the second half at

a speed of 40 km/h.

A)52 km/h B)45 km/h

C)50 km/h D)48 km/h

जब �कसी या�ा का पहला आधा भाग 60 �कमी/घंटा और दसूरा आधा भाग 40 �कमी/घंटा क� चाल से तय �कया जाता है।
औसत चाल �ात क�िजए।
A)52 �कमी/घंटा B)45 �कमी/घंटा
C)50 �कमी/घंटा D)48 �कमी/घंटा
Answer Key : D Your Response : D (Correct)

Question No. 26
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In a certain code language, 'TELEPHONE' is written as 'ENOHPELET'. How is 'ALIGATOR' written in that code?

A)ROTAGILA B)ROTEGILA

C)ROTAGILE D)ROTAGIAL

एक �नि�चत कूटभाषा म�, 'TELEPHONE' को 'ENOHPELET' �लखा जाता है। उसी कूटभाषा म� 'ALIGATOR' को कैसे
�लखा जाएगा?
A)ROTAGILA B)ROTEGILA
C)ROTAGILE D)ROTAGIAL
Answer Key : A Your Response : A (Correct)

Question No. 27

The Simple Interest on a certain sum at the rate of 5% per annum for 3 years is Rs.1260. Find the Compound

Interest for that sum at the same rate and for the same period.

A)Rs.1448.05 B)Rs.1384.05

C)Rs.1428.05 D)Rs.1324.05

एक �नि�चत रा�श पर 5% वा�ष�क दर पर 3 वष� का साधारण �याज �.1260 है। उसी रा�श पर समान दर पर समान अव�ध
का च�व�ृ� �याज �ात क�िजए।
A)�.1448.05 B)�.1384.05
C)�.1428.05 D)�.1324.05
Answer Key : D Your Response : D (Correct)

Question No. 28

The electron distribution in an aluminium atom is-

A)2, 8, 2 B)2, 8, 3

C)2, 3, 8 D)8, 2, 3

ए�यमूी�नयम परमाण ुम� इले��ॉन� का सह� �वतरण कौन सा है?
A)2, 8, 2 B)2, 8, 3
C)2, 3, 8 D)8, 2, 3
Answer Key : B Your Response : Not Answered

Question No. 29

In a certain code, 'JOVIAL' is written as 'NQZKEN'. How would 'FIGURE' be written in that code?

A)JKKWVG B)JKKWGV

C)JKWKVG D)JKKVWG

एक �नि�चत कूटभाषा म�, 'JOVIAL' को 'NQZKEN' �लखा जाता है। उसी कूटभाषा म� 'FIGURE' को कैसे �लखा जाएगा?
A)JKKWVG B)JKKWGV
C)JKWKVG D)JKKVWG
Answer Key : A Your Response : A (Correct)

Question No. 30

The protein in haemoglobin is-

A)Globin B)Globulin

C)Haem D)Albumin

__________, ह�मो�लो�बन म� मौजदू �ोट�न है।
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A)�लो�बन B)�लो�य�ुलन
C)ह�म D)ए�ब�ुमन
Answer Key : A Your Response : Not Answered

Question No. 31

Solve for x and y: 9x + 3y + 12 = 0 ; 18x + 6y+ 24 = 0

A)x = 1 ; y = 7 B)x = 2 ; y = - 10

C)x = 4 ; y = - 16 D)No unique solution. There are infinitely many

solutions

�न�न�ल�खत समीकरण� को हल करके x और y का मान �ात क�िजए : 9x + 3y + 12 = 0 ; 18x + 6y+ 24 = 0
A)x = 1 ; y = 7 B)x = 2 ; y = - 10
C)x = 4 ; y = - 16 D)कोई अ��वतीय हल नह�ं। इसके अनंत हल हो सकत ेह�।
Answer Key : D Your Response : D (Correct)

Question No. 32

Which of the following is India's first indigenous nuclear ballistic missile submarine?

A)INS Sindhugosh B)INS Arihant

C)INS Kalvari D)INS Shalki

भारत क� पहल� �वदेशी परमाण ुबै�लि�टक �मसाइल पनडु�बी �न�न�ल�खत म� से कौन सी है?
A)INS �सधुंघोष B)INS अ�रहंत
C)INS कलवर� D)INS शा�क�
Answer Key : B Your Response : Not Answered

Question No. 33

If 832.58 - 242.31 = 779.84 - a, find the value of 'a'.

A)199.57 B)189.57

C)295.05 D)179.57

य�द 832.58 - 242.31 = 779.84 - a है, तो 'a' का मान �ात क�िजए।
A)199.57 B)189.57
C)295.05 D)179.57
Answer Key : B Your Response : B (Correct)

Question No. 34

Find the HCF of 2 × 3² × 5², 5 × 3 × 2² and 5² × 3 × 2².

A)30 B)90

C)60 D)150

2 × 3² × 5², 5 × 3 × 2² और 5² × 3 × 2² का म.स.प (HCF) �ात कर�।
A)30 B)90
C)60 D)150
Answer Key : A Your Response : A (Correct)

Question No. 35

Which of the following is used as an antiseptic to sterilise wounds and syringes in hospitals? 

A)Methanol B)Propanol

C)Ethyl alcohol D)Butanol
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�न�न�ल�खत म� से �कसका उपयोग अ�पताल� म� घाव� और सी�रजं के रोगाणनुाशन के �लए एक एंट�सेि�टक के �प म� �कया
जाता है?
A)मेथनॉल B)�ोपेनाल
C)ईथाइल अ�कोहल D)�यटेूनाल
Answer Key : C Your Response : C (Correct)

Question No. 36

Find the ODD one out from the given options.

A)APQ B)LCI

C)BJV D)DTJ

�दए गए �वक�प� म� से असंगत को चुन�।
A)APQ B)LCI
C)BJV D)DTJ
Answer Key : B Your Response : Not Answered

Question No. 37

Complete the series.

4, 5, 8, 15, 30, (…)

A)78 B)72

C)61 D)69

�ेणी को पणू� कर�।

4, 5, 8, 15, 30, (…)
A)78 B)72
C)61 D)69
Answer Key : C Your Response : C (Correct)

Question No. 38

When atoms bond together chemically, ___________ are formed.

A)Element B)Alloys

C)Molecules D)Both element and alloys

परमाण ुरासाय�नक �प से जड़ुकर ___________ बन जात ेह�।
A)त�व B)�म�धातु
C)अणु D)त�व और �म�धात ुदोन�
Answer Key : C Your Response : C (Correct)

Question No. 39

With which of the following is the term 'Olfactory' associated?

A)Smell B)See

C)Hear D)Feel

'ऑ�फै�टर�' श�द �न�न�ल�खत म� से �कससे संबं�धत है?
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A)गंध B)�ि�ट
C)�वण D)�पश�
Answer Key : A Your Response : A (Correct)

Question No. 40

CE-20 is a/an _________ that was developed by ISRO .

A)Aircraft carrier B)Main battle tank

C)High thrust cryogenic engine D)Multirole fighter aircraft

CE-20 एक _________ है िजसे ISRO �वारा �वक�सत �कया गया था।
A)वाययुान वाहक पोत B)म�ुय य�ुक ट�क
C)उ�च �णोद(thrust) �ायोजे�नक इंजन D)बहुपयोगी लड़ाकू �वमान
Answer Key : C Your Response : Not Answered

Question No. 41

A) B)

C) D)

A) B)

C) D)
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Answer Key : A Your Response : A (Correct)

Question No. 42

Which medical technique is used to find out stones in kidney and gall bladder, which is also used for

examining the foetus during pregnancy?

A)Electrocardiography B)Echocardiography

C)Magnetic resonance imaging D)Ultrasonography

गुद� और �प�ताशय म� पथर� का पता लगाने के �लए �कस �च�क�सा तकनीक का उपयोग �कया जाता है, िजसका उपयोग
गभा�व�था के दौरान �णू क� जांच के �लए भी �कया जाता है?
A)इले��ोका�ड �यो�ाफ� B)इकोका�ड �यो�ाफ�
C)च�ुबक�य अननुाद ��त�च�ण (Magnetic resonance

imaging)
D)अ��ासोनो�ाफ�

Answer Key : D Your Response : D (Correct)

Question No. 43

Which of the following Articles in the Constitution grants us the Right to Equality?

A)Article 32 B)Article 23-24

C)Article 368 D)Article 14-18

सं�वधान क� �न�न अन�ुछेद म� से कौन सा हम� समानता का अ�धकार देता है?
A)अन�ुछेद 32 B)अन�ुछेद 23-24
C)अन�ुछेद 368 D)अन�ुछेद 14-18
Answer Key : D Your Response : Not Answered

Question No. 44

A) B)

C) D)
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A) B)

C) D)

Answer Key : A Your Response : Not Answered

Question No. 45

Three friends—P, Q and R are living in the same locality. The house of Q is to the east of P's house, and R's

house is to the south of P's house. What is the direction of R's house with respect to Q's house?

A)North west B)South

C)North D)South west

तीन दो�त- P, Q और R एक ह� इलाके म� रह रहे ह�। Q का घर P के घर के पवू� म� है, और R का घर P के घर के द��ण
म� है। Q के घर के संबंध म� R के घर क� �दशा �या है?
A)उ�तर पि�चम B)द��ण
C)उ�तर D)द��ण पि�चम
Answer Key : D Your Response : D (Correct)

Question No. 46

Interest on Rs.800 in 3 years at 4% Simple Interest equals twice the interest on Rs.300 at 8% in 'n' years,

then find 'n'.

A)3 B)4

C)2 D)1.5

4% साधारण �याज क� दर पर �. 800 क� रा�श पर 3 वष� म� लगने वाला �याज, 8% साधारण �याज क� दर पर �. 300
क� रा�श पर 'n' वष� म� लगने वाले �याज के दोगुने के बराबर है, तो 'n' का मान �ात क�िजए।
A)3 B)4
C)2 D)1.5
Answer Key : C Your Response : C (Correct)

Question No. 47
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Read the following information carefully and answer the question given below. 

Eight colleagues—A, B, C, D, E, F, G and H are sitting around a circular table facing the center but not

necessarily in the same order. Each one of them holds a different post—Manager, Secretary, Chairman,

President, Vice President, Group Leader, Financial Advisor and Managing Director. 

A sits third to the right of the Managing Director, and only two people sit between the Managing Director and

H. The Vice President and the Secretary are immediate neighbours. Neither A nor H is a Vice President or a

Secretary. The Vice President is not an immediate neighbour of the Managing Director. The Manager sits

second to the left of E. E is not an immediate neighbour of H. The Manager is an immediate neighbour of

both the Group Leader and the Financial Advisor. The Financial Advisor sits third to the right of B. B is not

the Vice President. C sits to the immediate right of the Chairman. A is not the Chairman. F is not an

immediate neighbour of A. G is not an immediate neighbour of the Manager. 

Who among the following sits third to the left of E?

A)Vice President B)Secretary

C)Financial Advisor D)President

�न�न�ल�खत जानकार� को �यान से पढ़� और नीचे �दए गए ��न का उ�तर द�।

आठ सहकम� - A, B, C, D, E, F, G और H एक व�ृताकार मेज के चार� ओर उसके क� � क� ओर मुंह करके बैठे ह� �क�तु
इसी �म म� नह�ं ह�। उनम� से ��येक अलग अलग – �बंधक, स�चव, चेयरमैन, अ�य�, उपा�य�, �ुप ल�डर, �व�तीय
सलाहकार एवं �बंध �नदेशक के पद पर है।
A, �बंध �नदेशक के दाएं से तीसरे �थान पर बैठा है, और �बंध �नदेशक एवं H के बीच म� केवल दो लोग बैठे ह�। उपा�य�
और स�चव �नकटतम पड़ोसी ह�। A और H म� से कोई भी उपा�य� या स�चव नह�ं है। उपा�य�, �बंध �नदेशक का �नकटतम
पड़ोसी नह�ं है। �बंधक E के बा� ओर दसूरे �थान पर बैठा है। E, H का �नकटतम पड़ोसी नह�ं है। �बंधक, �ुप ल�डर एवं
�व�तीय सलाहकार, दोन� का �नकटतम पड़ोसी है। �व�तीय सलाहकार, B के दा� ओर तीसरे �थान पर बैठा है। B, उपा�य�
नह�ं है। C, चेयरमैन के दा� ओर एकदम बगल म� बैठा है। A, चेयरमैन नह�ं है। F, A का �नकटतम पड़ोसी नह�ं है। G,
�बंधक का �नकटतम पड़ोसी नह�ं है।

�न�न�ल�खत म� से कौन E के बा� ओर तीसरे �थान पर बैठा है?
A)उपा�य� B)स�चव
C)�व�तीय सलाहकार D)अ�य�
Answer Key : C Your Response : Not Answered

Question No. 48

Find the total surface area of a hemispherical bowl of thickness 'd' and internal radius 'r'.

A)π(4r² + 3rd + d²) B)4πr² + 4πrd + 3d²

C)4πr² + 6πrd + 3d² D)π(4r² + 6rd + 3d²)

मोटाई 'd' और आंत�रक ���या ''r' वाले एक अध�गोलाकार कटोरे के प�ृठ�य �े�फल �ात क�िजए।
A)π(4r² + 3rd + d²) B)4πr² + 4πrd + 3d²
C)4πr² + 6πrd + 3d² D)π(4r² + 6rd + 3d²)
Answer Key : D Your Response : D (Correct)

Question No. 49

In which phase of the moon, is the moon invisible?
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A)Gibbous moon B)Full moon

C)New moon D)Crescent moon

चं�मा क� �कस अव�था म�, चं�मा अ��य होता है?
A)उ�नतोदर च�� B)पणू� च��
C)अमाव�या D)अध�च��
Answer Key : C Your Response : Not Answered

Question No. 50

The formula of current I = _______ /time (t).

A)Charge (Q) B)Resistance (R)

C)Volt (V) D)Power (P)

�व�यतु धारा का स�ू I = _______ / समय (t) है।
A)आवेश (Q) B)��तरोध (R)
C)वो�ट (V) D)शि�त (P)
Answer Key : A Your Response : A (Correct)

Question No. 51

Edges of a cuboid are in the ratio 1 : 2 : 3. Its surface area is 88 cm². What is its volume?

A)48 cm³ B)120 cm³

C)24 cm³ D)64 cm³

एक घनाभ के भजुाएं 1: 2: 3 के अनपुात म� ह�। इसका प�ृठ�य �े�फल 88 सेमी  है, तो इसका आयतन �ात क�िजए।
A)48 सेमी B)120 सेमी
C)24 सेमी D)64 सेमी
Answer Key : A Your Response : A (Correct)

Question No. 52

Find the equivalent fraction pairs from the following fractions.

2/5, 8/11, 42/63, 57/33, 48/120, 2/3

A)(2/5, 48/120) and (42/63, 2/3) B)(2/5, 8/11)

C)(2/5, 48/120) D)(42/63, 2/3)

�न�न�ल�खत �भ�न� से समत�ुय �भ�न य�ुम �ात कर�। 

2/5, 8/11, 42/63, 57/33, 48/120, 2/3
A)(2/5, 48/120) और (42/63, 2/3) B)(2/5, 8/11)
C)(2/5, 48/120) D)(42/63, 2/3)
Answer Key : A Your Response : A (Correct)

Question No. 53

A train running at a speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the train?

A)150 m B)324 m

C)180 m D)120 m

2

3 3

3 3
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60 �कलोमीटर/ घंटा क� ग�त से चलने वाल� एक रेलगाड़ी एक पोल को 9 सेकंड म� पार करती है। �ेन क� लंबाई �कतनी है?
A)150 मीटर B)324 मीटर
C)180 मीटर D)120 मीटर
Answer Key : A Your Response : A (Correct)

Question No. 54

Who was the first Indian to receive the Nobel Prize?

A)Mother Teresa B)Rabindranath Tagore

C)Har Gobind Khorana D)Amartya Sen

नोबेल परु�कार �ा�त करने वाले पहले भारतीय कौन थे?
A)मदर टेरेसा B)रवी��नाथ टैगोर
C)हर गो�बदं खरुाना D)अम�य� सेन
Answer Key : B Your Response : B (Correct)

Question No. 55

With which of the following sports is Koneru Humpy associated?

A)Hockey B)Chess

C)Badminton D)Golf

कोने� हंपी �न�न�ल�खत म� से �कस खेल से संबं�धत ह�?
A)हॉक� B)शतरंज
C)बैड�मटंन D)गो�फ
Answer Key : B Your Response : Not Answered

Question No. 56

If doubling a number and adding 20 to the result gives the same answer as multiplying the number by 8 and

taking away 4 from the product, find the number.

A)3 B)6

C)4 D)2

य�द �कसी सं�या को दोगुना करके उसम� 20 जोड़ने पर वह� उ�तर �मलता है, जो उसी सं�या को 8 से गुणा करके गुणनफल
म� से 4 घटाने पर �मलता है, तो सं�या �ात क�िजए।
A)3 B)6
C)4 D)2
Answer Key : C Your Response : C (Correct)

Question No. 57

What is the SI unit of pressure?

A)Newton per metre N / m B)Pascal Pa

C)Newton N D)Newton metre N-m

दाब का SI मा�क �या है?
A)�यटून ��त मीटर N / m B)पा�कल Pa
C)�यटून N D)�यटून मीटर N-m
Answer Key : B Your Response : B (Correct)

Question No. 58

The most abundant metal in the earth crust is-
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A)Sodium B)Calcium

C)Aluminium D)Iron

भपूप�ट� म� सवा��धक �चरु मा�ा म� पाई जाने वाल� धात ुकौन सी है?
A)सो�डयम B)कैि�शयम
C)ए�य�ूम�नयम D)लोहा
Answer Key : C Your Response : C (Correct)

Question No. 59

Which of the following is NOT a root?

A)Radish B)Beetroot

C)Cabbage D)Turnip

�न�न�ल�खत म� से कौन सा कंद (root) नह�ं है?
A)मलू� B)चकंुदर
C)प�तागोभी D)शलजम
Answer Key : C Your Response : C (Correct)

Question No. 60

Simplify: 1.2 × 2.5 × 0.5

A)150 B)15

C)1.5 D)0.15

सरल कर�: 1.2 × 2.5 × 0.5
A)150 B)15
C)1.5 D)0.15
Answer Key : C Your Response : C (Correct)

Question No. 61

Which of the following is NOT a contagious disease?

A)Measles B)Influenza

C)Typhoid D)Arthritis

�न�न�ल�खत म� से कौन सी बीमार� सं�ामक नह�ं है?
A)खसरा B)इन�लएंुज़ा
C)आं� �वर D)ग�ठया
Answer Key : D Your Response : D (Correct)

Question No. 62

Which city is called 'The Pink City of India'?

A)Jodhpur B)Jaipur

C)Kalka D)Pathankot

�कस शहर को 'भारत का गुलाबी शहर (�पकं �सट�)' कहा जाता है?
A)जोधपरु B)जयपरु
C)कालका D)पठानकोट
Answer Key : B Your Response : B (Correct)

Question No. 63
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Which of these statements is NOT true?

A)Proteins denature at high temperature B)Proteins denature by change in pH

C)Proteins are inactive at low temperatures D)Proteins are not affected by temperature

इनम� से कौन सा कथन स�य नह�ं है?
A)�ोट�न उ�च ताप पर �वकृत हो जात ेह�। B)�ोट�न, pH म� प�रवत�न होने पर �वकृत हो जात ेह�।
C)�ोट�न �न�न ताप पर �नि��य होते ह�। D)�ोट�न ताप से �भा�वत नह�ं होते ह�।
Answer Key : D Your Response : Not Answered

Question No. 64

Complete the series.

5, 6, 14, 45, 184, (…)

A)925 B)876

C)902 D)917

�ेणी को पणू� कर�। 

5, 6, 14, 45, 184, (…)
A)925 B)876
C)902 D)917
Answer Key : A Your Response : Not Answered

Question No. 65

Find the missing group of alphabets in the following series.

WC, CW, (…), MM, RH

A)WC B)MM

C)CW D)HR

�न�न�ल�खत �ेणी म� से अनपुि�थत अ�र समहू �ात क�िजए।

WC, CW, (…), MM, RH
A)WC B)MM
C)CW D)HR
Answer Key : D Your Response : Not Answered

Question No. 66

A jar of milk contains 40% water. A part of it is replaced by another milk containing 19% water. Now the

percentage of water is 26%. What quantity of milk was replaced?

A)1/3 B)2/3

C)2/5 D)1/5

दधू के एक जार म� 40% पानी है। इसके एक �ह�से को दसूरे दधू से बदल �दया जाता है, िजसम� 19% पानी है। अब पानी
का ��तशत 26% है। दधू क� �कतनी मा�ा को बदला गया ?
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A)1/3 B)2/3
C)2/5 D)1/5
Answer Key : B Your Response : Not Answered

Question No. 67

A and B invest some amount in the ratio 3 : 5 in a business. After 6 months, C joins them with an investment

equal to that of B. In what ratio should the yearly profit be shared among A, B and C?

A)6 : 7 : 5 B)6 : 10 : 5

C)3 : 5 : 6 D)3 : 5 : 4

A और B एक �यवसाय म� 3: 5 के अनपुात म� कुछ रा�श �नवेश करत ेह�। 6 मह�ने के बाद, C �यवसाय म� B के बराबर
�नवेश करके जड़ु जाता है। वा�ष�क लाभ को A, B और C के बीच �कस अनपुात म� साझा �कया जाना चा�हए?
A)6 : 7 : 5 B)6 : 10 : 5
C)3 : 5 : 6 D)3 : 5 : 4
Answer Key : B Your Response : B (Correct)

Question No. 68

When was the Central Pollution Control Board constituted?

A)1974 B)1981

C)1986 D)1970

क� ��य �दषूण �नयं�ण बोड� क� �थापना कब हुई थी?
A)1974 B)1981
C)1986 D)1970
Answer Key : A Your Response : Not Answered

Question No. 69

In which part of the body is thyroid gland situated?

A)Head B)Abdomen

C)Throat D)Chest

थायरॉयड �ं�थ शर�र के �कस भाग म� ि�थत होती है?
A)�सर B)उदर
C)गला D)छाती
Answer Key : C Your Response : C (Correct)

Question No. 70

A) B)
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C) D)

A) B)

C) D)

Answer Key : B Your Response : B (Correct)

Question No. 71

Who among the following will be ICC's Chief Executive Officer after the 2019 World Cup?

A)Manu Sawhney B)Tom Harrison

C)Kevin Roberts D)Thabang Moroe

2019 �व�व कप के बाद �न�न�ल�खत म� से कौन आईसीसी का मु�य काय�कार� अ�धकार� होगा?
A)मन ुसाहनी B)टॉम है�रसन
C)के�वन रॉब��स D)थबांग मोरो
Answer Key : A Your Response : Not Answered

Question No. 72

From where is the solar energy obtained?

A)Sea B)Sun

C)Stars D)Moon

सौर ऊजा� कहाँ से �ा�त होती है?
A)सम�ु B)सयू�
C)तारे D)चं�मा
Answer Key : B Your Response : B (Correct)

Question No. 73

Which number is a factor of all numbers?

A)1 B)0

C)2 D)-1

कौन सी सं�या सभी सं�याओं का गुणनख�ड होती है?
A)1 B)0
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C)2 D)-1
Answer Key : A Your Response : A (Correct)

Question No. 74

Which of the following hockey players was awarded with Rajiv Gandhi Khel Ratna Award?

A)Leslie Claudius B)All of the options

C)Dhanraj Pillay D)Udham Singh

�न�न�ल�खत म� से �कस हॉक� �खलाड़ी को राजीव गांधी खेल र�न परु�कार से स�मा�नत �कया गया?
A)ले�ल� �लॉ�डयस B)इनम� से सभी
C)धनराज �प�ले D)उधम �सहं
Answer Key : C Your Response : Not Answered

Question No. 75

The light rays that are used for eliminating bacteria in test tubes used in pathology labs are-

A)X-Rays B)Infrared rays

C)Microwave radiations D)Ultra Violet radiations

पैथोलॉजी लैब म� �य�ुत परखनल� (टे�ट �यबू) म� जीवाणओुं को न�ट करने के �लए �य�ुत �काश �करण� कौन सी ह�?
A)X-�करण� B)अवर�त �करण�
C)माइ�ोवेव �व�करण D)पराब�गनी �व�करण
Answer Key : D Your Response : D (Correct)

Question No. 76

Blue litmus when added to an acidic solution changes to-

A)Red B)White

C)Violet D)Green

अ�ल�य �वलयन म� डाले जाने पर नीले �लटमस का रंग बदलकर __________ हो जाता है।
A)लाल B)सफ़ेद
C)ब�गनी D)हरा
Answer Key : A Your Response : A (Correct)

Question No. 77

Compare rolling friction and sliding friction.

A)Rolling friction is either greater or equal to sliding

friction

B)Rolling friction is greater than sliding friction

C)Rolling friction is smaller than the sliding friction D)Rolling friction is always equal to sliding friction

लोट�नक घष�ण (rolling friction) एवं सप� घष�ण (sliding friction) क� तलुना क�िजए।
A)लोट�नक घष�ण (rolling friction) या तो सप� घष�ण

(sliding friction) से अ�धक या उसके बराबर होता है।
B)लोट�नक घष�ण (rolling friction), सप� घष�ण (sliding

friction) से अ�धक होता है।
C)लोट�नक घष�ण (rolling friction), सप� घष�ण (sliding

friction) से कम होता है।
D)लोट�नक घष�ण (rolling friction) हमेशा सप� घष�ण

(sliding friction) के बराबर होता है।
Answer Key : C Your Response : C (Correct)

Question No. 78

Total age of x and y is 15 years more than the sum of the ages of y and z. What is the value of (x - z)?

A)10 B)9
Top



C)12 D)15

x और y क� कुल आय,ु y और z क� आय ुके योग से 15 वष� अ�धक है। (x - z) का मान �या है?
A)10 B)9
C)12 D)15
Answer Key : D Your Response : D (Correct)

Question No. 79

Who was the first Indian woman to feature on an Indian stamp after 15 August 1947 ?

A)Kasturba Gandhi B)Meera Bai

C)Sarojini Naidu D)Rani Laxmibai

वह पहल� भारतीय म�हला कौन थी, िजनक� छ�व 15 अग�त 1947 के बाद भारतीय �टकट पर म�ु�त क� गयी?
A)क�तरूबा गांधी B)मीरा बाई
C)सरोिजनी नायडू D)रानी ल�मी बाई
Answer Key : B Your Response : Not Answered

Question No. 80

In the following question, correct the equation by interchanging the two signs.

4 x 3 - 6 ÷ 2 + 7 = 8

A)- and x B)+ and -

C)+ and ÷ D)x and ÷

�न�न�ल�खत ��न म�, दो �च�न� को पर�पर बदलकर समीकरण को संत�ुलत कर�। 

4 x 3 - 6 ÷ 2 + 7 = 8
A)- और x B)+ और -
C)+ और ÷ D)x और ÷
Answer Key : B Your Response : B (Correct)

Question No. 81

Which number will best complete the relationship given below?

15 : 65 :: 24 : ?

A)130 B)134

C)103 D)126

कौन सी सं�या नीचे �दए गए संबंध को सह� तर�के से पणू� करेगी? 

15 : 65 :: 24 : ?
A)130 B)134
C)103 D)126
Answer Key : D Your Response : Not Answered

Question No. 82 Top



Find the value of tan 10° tan 15° tan 80° tan 75°.

A)1 B)2/3

C)1/3 D)1/2

tan 10° tan 15° tan 80° tan 75° का मान �ात कर�।
A)1 B)2/3
C)1/3 D)1/2
Answer Key : A Your Response : A (Correct)

Question No. 83

Read the following information carefully and answer the question given below. 

Five friends A, B, C, D and E are sitting on a bench facing north. A is sitting next to B. D is sitting next to C. D

is not sitting with E. E is on the left end of the bench. C is on the second position from the right. A sits to the

right of B. A and C are sitting together.

Who is sitting in the middle of the bench?

A)A B)D

C)B D)C

�न�न�ल�खत जानकार� को �यान से पढ़� और नीचे �दए गए ��न का उ�तर द�।

पांच �म�, A, B, C, D और E उ�तर क� मुंह करके एक ब�च पर बैठे ह�। A, B के बगल म� बैठा हुआ है। D, C के बगल म�
बैठा हुआ है। D, E के साथ नह�ं बैठा है। E, ब�च के बाएं �कनारे पर बैठा है। C, दाएं से दसूरे �थान पर बैठा है। A और C,
एक साथ बैठे ह�।

ब�च के बीच म� कौन बैठा है?
A)A B)D
C)B D)C
Answer Key : A Your Response : A (Correct)

Question No. 84

Which type of lens is a natural lens present in the human eye?

A)Convex B)Concave

C)Bifocal D)Progressive

मानव क� आँख म� मौजदू �ाकृ�तक ल�स �कस �कार का होता है?
A)उ�तल B)अवतल
C)बाईफोकल D)�ो�े�सव
Answer Key : A Your Response : A (Correct)

Question No. 85

The drying of milk of lime (white washing) is due to the action of-

A)Nitrogen in air B)Oxygen in air

C)Hydrogen in air D)CO  in air

चनेू के पानी (पतुाई) का सखूना ___________ क� ��या क� वजह से होता है।
A)वाय ुम� मौजदू नाइ�ोजन B)वाय ुम� मौजदू ऑ�सीजन
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C)वाय ुम� मौजदू हाइ�ोजन D)वाय ुम� मौजदू CO
Answer Key : D Your Response : Not Answered

Question No. 86

Which of the following attractive forces exists between different layers of graphite?

A)Vander Waals forces B)Gravitational forces

C)Columbic forces D)Electromagnetic forces

�ेफाइट क� �व�भ�न परत� के बीच �न�न�ल�खत म� से कौन से आकष�ण बल मौजदू होत ेह�?
A)वान डर वा�स बल B)गु��वाकष�ण बल
C)कूलाम बल D)�व�यतु च�ुबक�य बल
Answer Key : A Your Response : A (Correct)

Question No. 87

An alarm was set at 11 AM on Monday on a clock that was set correctly at 1 AM on Sunday, but the clock

started gaining 20 seconds every 24 hours. What was the actual time when the alarm went off?

A)10:51:20 AM B)10:31:40 AM

C)11:30:00 AM D)10:30:00 AM

सोमवार को सबुह 11 बजे के �लए एक अलाम� सेट �कया गया था, जो र�ववार को रात 1 बजे सह� ढंग से सेट �कया गया था,
ले�कन घड़ी हर 24 घंट� के बाद 20 सेकंड बढ़ने लगी। अलाम� बजने का वा�त�वक समय �या था?
A)�ातः 10:51:20 B)�ातः 10:31:40
C)�ातः 11:30 D)�ातः 10:30
Answer Key : This Question is dropped and 

will not be consider during the evaluation
Your Response : Not Answered

Question No. 88

Which of the following states of India is the largest producer of lignite coal?

A)Maharashtra B)Tamil Nadu

C)Gujarat D)Madhya Pradesh

भारत का इनम� से कौन सा रा�य �ल�नाइट कोयले का सबसे बड़ा उ�पादक है?
A)महारा�� B)त�मलनाडु
C)गुजरात D)म�य �देश
Answer Key : B Your Response : D (Wrong)

Question No. 89

Which of the following transactions is the best when considering the corresponding profit percentage?

A)Cost price Rs.50, profit Rs.24 B)Cost price Rs.40, profit Rs.15

C)Cost price Rs.60, profit Rs.24 D)Cost price Rs.36, profit Rs.18

संगत लाभ ��तशत के �हसाब से �न�न�ल�खत म� से कौन सा लेन देन अ�छा है?
A)�य म�ूय �. 50, लाभ �. 24 B)�य म�ूय �. 40, लाभ �. 15
C)�य म�ूय �. 60, लाभ �. 24 D)�य म�ूय �. 36, लाभ �. 18
Answer Key : D Your Response : D (Correct)

Question No. 90

On what factor does the colour of scattered light depend upon?

A)The colour of the scattering particles B)The refractive index of the particles
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C)The size of the scattering particles D)The amount of impurity

�क��ण�त �काश का रंग �कस कारक पर �नभ�र करता है?
A)�क��ण�त कण� के रंग पर B)कण� के अपवत�नांक पर
C)�क��ण�त कण� के आकार पर D)अश�ु� क� मा�ा पर
Answer Key : C Your Response : Not Answered

Question No. 91

If 14 * 64 = 39, 25 * 37 = 31 and 9 * 17 = 13, then what will be 52 * 46?

A)49 B)51

C)42 D)38

य�द 14 * 64 = 39, 25 * 37 = 31 और 9 * 17 = 13 है, तो 52 * 46 का मान �ात क�िजए।
A)49 B)51
C)42 D)38
Answer Key : A Your Response : Not Answered

Question No. 92

Sixteen women working 7 hours a day will complete a job in 48 days. How many women are needed to

complete the same job in 32 days working 12 hours a day?

A)14 B)12

C)17 D)10

सोलह म�हलाएं, एक काम को ��त�दन 7 घंटे काम करके 48 �दन� म� परूा करती ह�। उसी काम को ��त�दन 12 घंटे काम
करके 32 �दन म� परूा करने के �लए �कतनी म�हलाओं क� आव�यकता होगी?
A)14 B)12
C)17 D)10
Answer Key : A Your Response : A (Correct)

Question No. 93

Three of the following four of alphabets and numerals have the same relationship between their elements as

in the case of the pair ROUT : 5487 and hence form a group. Which of the following does not belong to the

group?

A)ROT : 587 B)TOR : 745

C)OUT : 487 D)OUR : 485

�न�न�ल�खत चार म� से तीन अ�र और अंक� के अवयव� के बीच वैसा ह� संबंध है जैसा य�ुम ROUT: 5487 म� है और इस
�कार एक समहू बनात ेह�। �न�न�ल�खत म� से कौन सा इस समहू से संबं�धत नह�ं है?
A)ROT : 587 B)TOR : 745
C)OUT : 487 D)OUR : 485
Answer Key : A Your Response : Not Answered

Question No. 94

According to law of refraction what is said about the incident ray, refracted ray and the normal to the

interface of two transparent media at the point of incidence?

A)All have the same length B)All lie in the same plane

C)All are refracted D)All have the same angle
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अपवत�न के �नयम के अनसुार, आप�तत �करण, अपव�त�त �करण और आपतन �बदं ुपर दो पारदश� मा�यम� के इंटरफेस पर
लंब के बारे म� �या कहा जाता है?
A)सभी क� लंबाई समान होती है। B)सभी एक ह� तल म� होत ेह�।
C)सभी अपव�त�त होत ेह�। D)सभी का कोण समान होता है।
Answer Key : B Your Response : B (Correct)

Question No. 95

Which number will best complete the relationship given below?

343 : 7 :: 729 : ?

A)9 B)7

C)11 D)12

कौन सी सं�या नीचे �दए गए संबंध को सह� तर�के से पणू� करेगी? 

343 : 7 :: 729 : ?
A)9 B)7
C)11 D)12
Answer Key : A Your Response : A (Correct)

Question No. 96

A) B)

C) D)

A) B)
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C) D)

Answer Key : A Your Response : Not Answered

Question No. 97

Which of the following is a chemical change?

A)Evaporation of alcohol B)Rusting of iron

C)Melting of ice D)Crushing a can

�न�न�ल�खत म� से कौन सा एक रासाय�नक प�रवत�न है?
A)ए�कोहल का वा�पीकरण B)लोहे म� जंग लगना
C)बफ�  का �पघलना D)�कसी कैन को �श करना
Answer Key : B Your Response : Not Answered

Question No. 98

The length of a rectangular plot is thrice its breadth. If the area of the rectangular plot is 867 m², then what

is the length of the rectangular plot?

A)51 m B)68 m

C)34 m D)17 m

एक आयताकार भखूंड क� लंबाई इसक� चौड़ाई से तीन गुना है। य�द आयताकार भखूंड का �े�फल 867 मीटर  है, तो
आयताकार भखूंड क� लंबाई �या है?
A)51 मीटर B)68 मीटर
C)34 मीटर D)17 मीटर
Answer Key : A Your Response : A (Correct)

Question No. 99

'A' is to the south east of 'C', 'B' is to the east of 'C' and north east of 'A'. If 'D' is to the north of 'A' and north

west of 'B', then what is the direction of 'C' with respect to 'D'?

A)South east B)South west

C)North east D)North west

'A', 'C 'के द��ण पवू� म� है; 'B', 'C 'के पवू� म� है और 'A' के उ�तर पवू� म� है। य�द 'D', 'A' के उ�तर म� है और 'B' के
उ�तर पि�चम म� है, तो 'D' के सापे� 'C' क� �दशा �या है?
A)द��ण पवू� B)द��ण पि�चम
C)उ�तर पवू� D)उ�तर पि�चम
Answer Key : B Your Response : C (Wrong)

Question No. 100
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A) B)

C) D)

A) B)

C) D)

Answer Key : B Your Response : B (Correct)
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